ENEOS #k{=+1t

R EREHMO S5t

FRIDET OB AHEY —ERZTFIRVIZE, SCHONESTEVFET,

HESFOBIRIZ(OEAIN AR ERBEMB LV, TOBEEOEREL RS FIIREHIASMEELELIZOT,
TEOBISHSENLET

BRATIV7 : RREN
(A% B R B A | (M. %)
20201189 202010A% BififZ=
BRFBENIF BIR3B)RZERAOHESF
HRIEEMGEOES  [1kWhIOOE A 4.42 A 3.98 A 0.44
=ERROSE 1kWhIZDE A 4.48 A 4.03 A 0.45
[ EUIAR (B S HET5RE) ]
20201189 202010A%
2020468 202045H

2020488 3MA¥

202078 3NAFI

ARl F3/k 2 22,751 18,704
FAILNGHEi#S 3/t 39,770 46,047
AR AT 3/t 8,123 8,359
L R4S M/k £ 24,200 26,200

BE




